Tun Uskx Usix Bt B InoT o %ip |PnoT|Pnot.cp.| [hor [Ror

Mpume4aHue

MUKpOCXeMbl B, <= B, >=|MA, <=|MA, <=|MA, <=|HC, <= |HC, <=| MBT MBT |MA, <=|MA, <= P
133JIH2 0.4 2.4 -1.6 0.04 15 22 12 33
K155JIH2 0.4 2.4 -1.6 0.04 15 22 12 33
530JIH2 0.5 -2 0.05 7 7.5 19.8 54
M530JIH2
H530JIH2
K531JIH2II
533JIH2 0.4 2.5 -0.4 0.02 28 32 2.4 6.6 Kpas =10
555JIH2 0.5 2.7 -0.4 0.02 28 32 234 2.4 0.0 Usux = 2.7B

npH [bax = 100MKA
K555JIH2 0.5 2.7 -0.36 |0.02 28 32 2.4 6.6
KMS555JIH2
1533JIH2 0.4 2.5 -0.2 0.02 29 59 1.1 3.8

L
—_

133JIH3 0.4 24 -1.6 0.04 2.3 15 48




